

FIXED POINT THEOREM FOR SETVALUED MAPPINGS SATISFYING AN IMPLICIT RELATION IN INTUITIONISTIC FUZZY METRIC SPACE

¹Anil Rajput , ²Rajamani S , ³Namrata Tripathi , ⁴Archana Jain & ⁵Deepratna Masulkar

¹Department of Mathematics, Govt.PG College Sehore, Bhopal (M.P.), India

²28 – Golf Links, Airport Road, Bhopal (M.P), India

³Department of Mathematics, TIEIT, Bhopal (M.P), India

⁴Department of Mathematics, Govt. P.G. College BHEL, Bhopal (M.P), India

⁵Rani Durgawati Govt. P.G. College Mandla, Bhopal (M.P), India

Email: ¹ drar1234@yahoo.com; ³ntripathi16@gmail.com

ABSTRACT

In this paper, we give a common fixed point theorem for setvalued mappings with intuitionistic fuzzy metric space.

Key words:- *Intuitionistic fuzzy metric space, Implicit relation, compatible mapping and noncompatible mapping.*

Mathematics Subject Classification 47H09, 47H10.

1. INTRODUCTION

Throughout this paper, $(X, M, N, *, \diamond)$ stands for a intuitionistic fuzzy metric space with the induced metric M, N whereas $CB(X)$ denotes the family of all nonempty closed bounded subsets of X . Let

$$H_M(A, B, t) \geq \min\left\{\inf_{x \in A} \sup_{y \in B} M(x, y, t), \inf_{y \in B} \sup_{x \in A} M(x, y, t)\right\}$$

$$H_N(A, B, t) \leq \max\left\{\sup_{x \in A} \inf_{y \in B} N(x, y, t), \sup_{y \in B} \inf_{x \in A} N(x, y, t)\right\}$$

where $A, B \in CB(X)$.

It is well known that if $(X, M, N, *, \diamond)$ is a complete intuitionistic fuzzy metric space, then so is the intuitionistic fuzzy metric space $(CB(X), H_M, H_N, *, \diamond)$. In 1999 Popa proved theorem for weakly compatible non-continuous mappings using implicit relation. It was extended by Imdad ([2], 2002) using coincidence commuting property. The main object of this paper is to obtain some common fixed point theorems in intuitionistic fuzzy metric space using “Implicit Relation”. Our result differs from all above authors in the following ways:

- (1) We have taken three self maps.
- (2) Weak** commuting property is used.
- (3) Relaxing the continuity requirement completely.

1.1.1 Definition . The mappings $f : X \rightarrow X$ and $S : X \rightarrow CB(X)$ are compatible if

$fSx \in CB(X)$ for all $x \in X$ and

$$\lim_{n \rightarrow \infty} M(Sf x_n, f Sx_n, t) = 1, \quad \lim_{n \rightarrow \infty} N(S f x_n, f Sx_n, t) = 0$$

whenever $\{x_n\}$ is a sequence in X such that $\lim_{n \rightarrow \infty} Sx_n = A \in CB(X)$ and $\lim_{n \rightarrow \infty} f x_n = t \in A$.

Now, we consider the following conditions.

1.1.1 Condition . The mappings $f : X \rightarrow X$ and $S : X \rightarrow CB(X)$ are said to be satisfy Condition 1.1.1 iff $fSx \in CB(X)$ for all $x \in X$ and

$$\lim_{n \rightarrow \infty} M(Sf x_n, f Sx_n, t) \geq \lim_{n \rightarrow \infty} M(Sf x_n, Sx_n, \frac{t}{2}) * M(Sx_n, f Sx_n, \frac{t}{2})$$

$$\lim_{n \rightarrow \infty} N(Sf x_n, f Sx_n, t) \leq \lim_{n \rightarrow \infty} N(S f x_n, Sx_n, \frac{t}{2}) \diamond N(Sx_n, f Sx_n, \frac{t}{2})$$

whenever $\{x_n\}$ is a sequence in X such that $\lim_{n \rightarrow \infty} Sx_n = A \in CB(X)$ and $\lim_{n \rightarrow \infty} f x_n = t \in A$.

1.1.2 Condition . The mappings $f : X \rightarrow X$ and $S : X \rightarrow CB(X)$ are said to be satisfy Condition 2 iff for all $x \in X$ and

$$\lim_{n \rightarrow \infty} M(f x_n, f x_n, t) \geq \lim_{n \rightarrow \infty} M(S f x_n, S x_n, t)$$

$$\lim_{n \rightarrow \infty} N(f f x_n, f x_n, t) \leq \lim_{n \rightarrow \infty} M(S f x_n, S x_n, t)$$

whenever $\{x_n\}$ is a sequence in X such that

$$\lim_{n \rightarrow \infty} S x_n = A \in CB(X) \text{ and } f x_n = t \in A.$$

1.1 Lemma . Let $(X, M, N, *, \diamond)$ be an intuitionistic fuzzy metric space and for all $x, y \in X, t > 0$ and if for a number $k \in (0, 1)$,

$$M(x, y, kt) \geq M(x, y, t) \text{ and } N(x, y, kt) \leq N(x, y, t) \text{ then } x = y.$$

Implicit relation

Implicit relations on intuitionistic fuzzy metric spaces

Let F be the set of all continuous functions $F(\mathbb{R}^+)^6 \rightarrow \mathbb{R}^+$ which is a non-decreasing and non-increasing in the argument satisfying the following conditions:

$F_1 : F(t_1, \dots, t_6)$ is non decreasing in t_2, \dots, t_6 .

$F_a : \text{For } u, v \geq 0, F(u, v, u, v, 1) \geq 0 \text{ implies that } u \geq v.$

$F_b : F(u, 1, 1, u, 1) \geq 0 \text{ or } F(u, u, 1, 1, u) \geq 0 \text{ or } F(u, 1, u, 1, u) \geq 0 \text{ implies } u \leq 1.$

$F_1 : F(t_1, \dots, t_6)$ is non -increasing in t_2, \dots, t_6 .

For $u, v \geq 0, F(u, v, u, v, 0) \leq 0 \text{ implies that } u \leq v.$

$F(u, 0, 0, u, 0) \leq 0 \text{ or } F(u, u, 0, 0, u) \leq 0 \text{ or } F(u, 0, u, 0, u) \leq 0 \text{ implies that } u \leq 1.$

1.1 Example .: Define $F(t_1, t_2, t_3, t_4, t_5) = 13t_1 - 11t_2 - 3t_3 - 5t_4 + t_5 - 1$,

then from (F a) $F(u, v, v, u, 1) \in 0 \text{ or } F(u, v, u, v, 1) \geq 0, \Rightarrow u \geq v.$

and from (F b) $F(u, u, 1, 1, u) \in 0, \text{ or } F(u, 1, 1, u, 1) \geq 0, \Rightarrow u \leq 1.$

1.2 Example .:

1. $F((t_1, t_2, t_3, t_4, t_5, t_6) = t_1 - \min\{ t_2, t_3, t_4, t_5, t_6 \}$
2. $F((t_1, t_2, t_3, t_4, t_5, t_6) = t_1^2 - \min\{ t_i, t_j : i, j \in \{ 2, 3, 4, 5, 6 \}$
3. $F((t_1, t_2, t_3, t_4, t_5, t_6) = t_1^3 - \min\{ t_i, t_j, t_k : i, j, k \in \{ 2, 3, 4, 5, 6 \}$

1.3 Example .:

1. $F((t_1, t_2, t_3, t_4, t_5, t_6) = t_1 - \max\{ t_2, t_3, t_4, t_5, t_6 \}$
2. $F((t_1, t_2, t_3, t_4, t_5, t_6) = t_1^2 - \max\{ t_i, t_j : i, j \in \{ 2, 3, 4, 5, 6 \}$
3. $F((t_1, t_2, t_3, t_4, t_5, t_6) = t_1^3 - \max\{ t_i, t_j, t_k : i, j, k \in \{ 2, 3, 4, 5, 6 \}$

2. MAIN RESULT

2.1 Theorem .: Let $(X, M, N, *, \diamond)$ be a complete intuitionistic fuzzy metric space. Consider $f, g : X \rightarrow X$ and $S, T : X \rightarrow CB(X)$, Where $CB(X)$ the family of all closed bounded subsets of X be a continuous mapping such that f and S as well as g and T satisfy Condition 1 and Condition 2 Assume $T(X) \subseteq f(X), S(X) \subseteq g(X)$ and for all $x, y \subseteq X$

$$F(M(Sx, T y, kt), M(f x, g y, t), M(f x, Sx, t), M(g y, T y, 2t), M(f x, T y, 2t), M(g y, Sx, t)) \geq 0, \tag{2.1}$$

$$F(N(Sx, T y, kt), N(f x, g y, t), N(f x, Sx, t), N(g y, T y, 2t), N(f x, T y, 2t), N(g y, Sx, t)) \leq 0, \tag{2.2}$$

where $F \in F$. Then f, g, S and T have a common fixed point.

Proof. Let x_0 be arbitrary point in X . We shall construct two sequences $\{x_n\}$ and $\{y_n\}$ of elements in X and sequence $\{A_n\}$ of elements in $CB(X)$. Since $S(X) \subseteq g(X)$, there exists $x_1 \in X$ such that $y_1 = g x_1 \in Sx_0$. Then there exists an element $y_2 = fx_2 \in Tx_1 = A_1$, because $T(X) \subseteq f(X)$, such that

$$M(y_1, y_2, kt) = M(gx_1, fx_2, kt) \geq M(Sx_0, Tx_1, kt) \geq M(y_0, y_1, t) \text{ and}$$

$$N(y_1, y_2, kt) = N(gx_1, fx_2, kt) \leq N(Sx_0, Tx_1, kt) \leq N(y_0, y_1, t)$$

Since $S(X) \subseteq g(X)$, we may choose $x_3 \in X$ such that $y_3 = g x_3 \in Sx_2 = A_2$

$$M(y_2, y_3, kt) \geq M(Tx_1, Sx_2, kt) \geq M(y_1, y_2, t) \text{ and}$$

$$N(y_2, y_3, kt) \leq N(Tx_1, Sx_2, t) \leq M(y_1, y_2, t)$$

and by induction we produce the sequences $\{x_n\}$, $\{y_n\}$ and $\{A_n\}$ such that

$$y_{2n+1} = g x_{2n+1} \in S_{2n} = A_{2n}, \tag{2.3}$$

$$y_{2n+2} = f x_{2n+2} \in T x_{2n+1} = A_{2n+1}, \tag{2.4}$$

$$M(y_{2n+1}, y_{2n}, kt) \geq kM(S_{2n}, T x_{2n-1}, kt) \geq M(y_{2n}, y_{2n-1}, t) \tag{2.5}$$

$$N(y_{2n+1}, y_{2n}, kt) \leq N(S_{2n}, T x_{2n-1}, kt) \leq N(y_{2n}, y_{2n-1}, t) \tag{2.6}$$

$$M(y_{2n+1}, y_{2n+2}, kt) \geq M(S_{2n}, T x_{2n+1}, kt) \geq M(y_{2n}, y_{2n+1}, t) \tag{2.7}$$

$$N(y_{2n+1}, y_{2n+2}, kt) \leq N(S_{2n}, T x_{2n+1}, kt) \leq N(y_{2n}, y_{2n+1}, t) \tag{2.8}$$

for every $n \in \mathbb{N}$. Letting $x = x_{2n}$, $y = x_{2n+1}$ in (2.1) and (2.2), we have successively

$$F\{H_M(Sx_{2n}, T x_{2n+1}, kt), M(f x_{2n}, g x_{2n+1}, t), M(f x_{2n}, Sx_{2n}, t), M(g x_{2n+1}, T x_{2n+1}, 2t), M(f x_{2n}, T x_{2n+1}, 2t), M(g x_{2n+1}, Sx_{2n}, t)\} \geq 0$$

$$F\{H_N(Sx_{2n}, T x_{2n+1}, kt), N(f x_{2n}, g x_{2n+1}, t), N(f x_{2n}, Sx_{2n}, t), N(g x_{2n+1}, T x_{2n+1}, 2t), N(f x_{2n}, T x_{2n+1}, 2t), N(g x_{2n+1}, Sx_{2n}, t)\} \leq 0$$

and so

$$F\{H_M(Sx_{2n}, T x_{2n+1}, kt), M(y_{2n}, y_{2n+1}, t), M(y_{2n}, y_{2n+1}, t), M(y_{2n+1}, y_{2n+2}, 2t), M(y_{2n}, y_{2n+2}, 2t), M(y_{2n+1}, y_{2n+1}, t)\} \geq 0$$

$$F\{H_M(Sx_{2n}, T x_{2n+1}, kt), M(y_{2n}, y_{2n+1}, t), M(y_{2n}, y_{2n+1}, t), M(y_{2n+1}, y_{2n+2}, 2t), M(y_{2n}, y_{2n+2}, 2t), 1\} \geq 0.$$

$$F\{M(y_{2n+1}, y_{2n+2}, kt), M(y_{2n}, y_{2n+1}, t), M(y_{2n+1}, y_{2n+2}, t), M(y_{2n}, y_{2n+1}, t), M(y_{2n+1}, y_{2n+2}, t), 1\} \geq 0. \tag{2.9}$$

$$F\{H_N(Sx_{2n}, T x_{2n+1}, kt), N(y_{2n}, y_{2n+1}, t), N(y_{2n}, y_{2n+1}, t), N(y_{2n+1}, y_{2n+2}, 2t), N(y_{2n}, y_{2n+2}, 2t), N(y_{2n+1}, y_{2n+1}, t)\} \leq 0$$

$$F\{H_N(Sx_{2n}, T x_{2n+1}, kt), N(y_{2n}, y_{2n+1}, t), N(y_{2n}, y_{2n+1}, t), N(y_{2n+1}, y_{2n+2}, 2t), N(y_{2n}, y_{2n+2}, t), 0\} \leq 0.$$

$$F\{N(y_{2n+1}, y_{2n+2}, kt), N(y_{2n}, y_{2n+1}, t), N(y_{2n+1}, y_{2n+2}, t), N(y_{2n}, y_{2n+1}, t), N(y_{2n+1}, y_{2n+2}, t), 0\} \leq 0. \tag{2.10}$$

Using Lemma 1.1 we have

$$M(y_{2n+2}, y_{2n+1}, kt) \geq M(y_{2n+1}, y_{2n}, t) \tag{2.11}$$

Similarly

$$N(y_{2n+2}, y_{2n+1}, kt) \leq N(y_{2n+1}, y_{2n}, t) \tag{2.12}$$

Thus for any n and t we have

$$M(y_{n+1}, y_n, kt) \geq M(y_n, y_{n-1}, t)$$

$$N(y_{n+1}, y_n, kt) \leq N(y_n, y_{n-1}, t)$$

We shall prove that $\{y_n\}$ is a Cauchy sequence

$$M(y_{n+1}, y_n, t) \geq M(y_n, y_{n-1}, t/k) \geq M(y_{n-1}, y_{n-2}, t/k^2) \geq \dots \geq M(y_1, y_0, t/k^n) \rightarrow 1 \text{ as } n \rightarrow \infty.$$

Thus the result holds for $m=1$.

$$M(y_{n+1}, y_n, t) \geq M(x_n, x_{n-1}, \frac{t}{q}) \geq M(x_{n-2}, x_{n-1}, \frac{t}{q^2}) \geq \dots \geq M(x_1, x_2, \frac{t}{q^n}) \rightarrow 1$$

as $n \rightarrow \infty$

So, $M(x_n, x_{n+1}, t) \rightarrow 1$ as $n \rightarrow \infty$ for any $t > 0$.

By induction hypothesis suppose that the result holds for $m = r$.

Now $M(y_n, y_{n+r+1}, t) \geq M(y_n, y_{n+r}, t/2) * M(y_{n+1}, y_{n+r+1}, t/2) \rightarrow 1 * 1 = 1$

Thus the result holds for $m=r+1$

$$N(x_{n+1}, x_n, t) \leq N(x_n, x_{n-1}, \frac{t}{q}) \leq N(x_{n-1}, x_{n-2}, \frac{t}{q^2})$$

$$\leq \dots \leq N(x_1, x_2, \frac{t}{q^n}) \rightarrow 0 \text{ as } n \rightarrow \infty.$$

So, $N(x_{n+1}, x_n, t) \rightarrow 0$ as $n \rightarrow \infty$ for any $t > 0$.

By induction hypothesis suppose that the result holds for $m = r$.

Now $N(y_n, y_{n+r+1}, t) \leq N(y_n, y_{n+r}, t/2) \diamond N(y_{n+1}, y_{n+r+1}, t/2) \rightarrow 0 \diamond 0 = 0$

Thus the result holds for $m=r+1$

Hence $\{y_n\}$ is a Cauchy sequence in X which is complete. Therefore $\{y_n\}$ converges to $z \in X$ such that $y_n \rightarrow z$. Therefore, $g x_{2n+1} \rightarrow z$ and $f x_{2n} \rightarrow z$. Also from (2.11) and (2.12) and the fact that $\{y_n\}$ is Cauchy sequence it follows that $\{A_k\}$ is Cauchy sequence in the complete metric space $(CB(X), H_M, H_N)$. Thus $A_k \rightarrow A \in CB(X)$. This implies $Tx_{2n+1} \rightarrow A$ and $Sx_{2n} \rightarrow A$ and therefore $z \in A$, because

$$M(z, A, t) = \lim_{n \rightarrow \infty} M(y_n, A, t) \geq \lim_{n \rightarrow \infty} H_M(A_{n-1}, A_n, t) = 1,$$

$$N(z, A, t) = \lim_{n \rightarrow \infty} N(y_n, A, t) \leq \lim_{n \rightarrow \infty} H_N(A_{n-1}, A_n, t) = 0.$$

Since A is closed, A and f and S are satisfying Condition 1.1.1 and Condition 1.1.2 implies that

$$\lim_{n \rightarrow \infty} H_M(fSx_{2n}, S f x_{2n}) \geq \lim_{n \rightarrow \infty} H_M(Sx_{2n}, S f x_{2n}, \frac{t}{2}) * \lim_{n \rightarrow \infty} H_M(Sx_{2n}, f Sx_{2n}, \frac{t}{2})$$

$$\lim_{n \rightarrow \infty} H_N(f Sx_{2n}, S f x_{2n}) \leq \lim_{n \rightarrow \infty} H_N(Sx_{2n}, S f x_{2n}, \frac{t}{2}) \diamond \lim_{n \rightarrow \infty} H_N(Sx_{2n}, f Sx_{2n}, \frac{t}{2})$$

and

$$\lim_{n \rightarrow \infty} M(f f x_{2n}, f x_{2n}, t) \geq H_M \lim_{n \rightarrow \infty} (Sx_{2n}, S f x_{2n}, \frac{t}{2}),$$

$$\lim_{n \rightarrow \infty} N(f f x_{2n}, f x_{2n}, t) \leq H_N \lim_{n \rightarrow \infty} N(Sx_{2n}, S f x_{2n}, \frac{t}{2})$$

This along with the continuity of f and S imply that

$$H_M(fA, Sz, t) \geq M(A, Sz, \frac{t}{2}), \tag{2.13}$$

$$H_N(fA, Sz, t) \leq N(A, Sz, \frac{t}{2}) \tag{2.14}$$

And $M(fz, z, t) \geq H_M(A, Sz, t) \tag{2.15}$

$$N(fz, z, t) \leq H_N(A, Sz, t) \tag{2.16}$$

Now

$$M(fz, Sz, t) \geq M(fz, f g x_{2n+1}, \frac{t}{2}) * M(f g x_{2n+1}, Sz, \frac{t}{2})$$

$$\geq M(fz, f g x_{2n+1}, \frac{t}{2}) * H_M(f Sx_{2n}, Sz, \frac{t}{2})$$

$$\geq M(fz, f g x_{2n+1}, \frac{t}{2}) * H_M(f Sx_{2n}, S f x_{2n}, \frac{t}{4}) * H_M(S f x_{2n}, Sz, \frac{t}{4})$$

$$N(fz, Sz, t) \leq N(fz, f g x_{2n+1}, \frac{t}{2}) \diamond N(f g x_{2n+1}, Sz, \frac{t}{2})$$

$$\leq N(fz, f g x_{2n+1}, \frac{t}{2}) \diamond H_N(f Sx_{2n}, Sz, \frac{t}{2})$$

$$\leq N(fz, f g x_{2n+1}, \frac{t}{2}) \diamond H_N(f Sx_{2n}, S f x_{2n}, \frac{t}{4}) \diamond H_N(S f x_{2n}, Sz, \frac{t}{4})$$

and letting $n \rightarrow \infty$ we have

$$M(fz, Sz, t) \geq \lim_{n \rightarrow \infty} H_M(fSx_{2n}, Sf x_{2n}, \frac{t}{4}) \geq H_M(A, Sz, \frac{t}{4}).$$

$$N(fz, Sz, t) \leq \lim_{n \rightarrow \infty} N(fSx_{2n}, Sf x_{2n}, \frac{t}{4}) \leq H_N(A, Sz, \frac{t}{4}).$$

Now using (2.1) we have

$$\begin{aligned} &F(H_M(Sz, T x_{2n+1}, kt), M(fz, g x_{2n+1}, t), M(fz, Sz, t), M(g x_{2n+1}, T x_{2n+1}, 2t), \\ &M(fz, T x_{2n+1}, 2t), M(g x_{2n+1}, Sz, t)) \geq 0 \\ &F(H_M(Sz, T x_{2n+1}, k), M(fz, g x_{2n+1}, t), M(fz, Sz, t), M(g x_{2n+1}, T x_{2n+1}, t), \\ &M(fz, fx_{2n+2}, t) * M(fx_{2n+2}, T x_{2n+1}, t), M(g x_{2n+1}, Sz, t)) \geq 0 \end{aligned} \tag{2.15}$$

Now using (2.2) we have

$$\begin{aligned} &F(H_N(Sz, T x_{2n+1}, kt), N(fz, g x_{2n+1}, t), N(fz, Sz, t), N(g x_{2n+1}, T x_{2n+1}, 2t), \\ &N(fz, T x_{2n+1}, 2t), N(g x_{2n+1}, Sz, t)) \leq 0 \\ &F(H_N(Sz, T x_{2n+1}, k), N(fz, g x_{2n+1}, t), N(fz, Sz, t), N(g x_{2n+1}, T x_{2n+1}, t), \\ &N(fz, fx_{2n+2}, t) \diamond N(fx_{2n+2}, T x_{2n+1}, t), N(g x_{2n+1}, Sz, t)) \leq 0 \end{aligned} \tag{2.17}$$

Letting $n \rightarrow \infty$ in (2.15) and (2.16) we obtain

$$\begin{aligned} &F(M(Sz, A, kt), M(fz, z, t), M(fz, Sz, t), M(z, A, t), \\ &M(fz, z, t) * M(z, A, t), M(z, Sz, t)) \geq 0 \end{aligned} \tag{2.18}$$

$$\begin{aligned} &F(N(Sz, A, t), N(fz, z, t), N(fz, Sz, t), N(z, A, t), \\ &N(fz, z, t) \diamond N(z, A, t), N(z, Sz, t)) \leq 0 \end{aligned} \tag{2.19}$$

and so

$$F(M(Sz, A, t), M(Sz, A, t), M(Sz, A, t), 1, M(Sz, A, t) * 1, M(Sz, A, t)) \geq 0 \quad F(N(Sz, A, t), N(Sz, A, t), N(Sz, A, t), 0, N(Sz, A, t) \diamond 0, N(Sz, A, t)) \leq 0$$

which is a contradiction to F_a and F_b . Thus $M(Sz, A, t) = 1$, $N(Sz, A, t) = 0$ and so, from (2.13), (2.14), (2.15) and (2.16) we have $z = fz \in Sz$. Thus we say

$$M(Sz, A, kt) \geq M(Sz, A, t) \quad \text{and} \quad N(Sz, A, kt) \leq N(Sz, A, t).$$

Similarly we have $z = gz \in Tz$. Thus z is a common fixed point of this four mappings.

3. REFERENCES

[1]. **Azam, A. and Beg, I.:** Common fixed points of fuzzy maps, *Mathematical and Computer Modelling*, 49 (2009), 1331-1336.

[2]. **Imdad, M., Kumar S. and Khan, M. S.:** Remarks on some fixed point theorems satisfying implicit relations, *Rad. Math.* 11(2002), 135-143.

[3]. **Kaneko, H. and Sessa, S.:** Fixed point theorems for compatible multivalued and single-valued mappings, *Internat. J.Math. and Math. Sci.* 12(1989), 257-262.